
 

1 | 1  
 

Fitting Instructions #TRCDDHILIS 
Toyota Hilux 2005 – 

Prado 120 series 2002 – 2010 

Prado 150 series 2010 – 

FJ Cruiser 2006 – 2016 

Diff Drop Kit 

 

 

 

               

 2 x M12 x 1.75 x 160 

 2 x 49mm x 25mm (13mm ID) alloy round spacers 

 4 x M12 flat washer 

 2 x M12 nyloc nuts 

 4 x M8 x P1.25 x 45L 

 4 x M8 split washer 

 4 x 24.5mm x 25mm (8.6mm ID) alloy round spacers 

 

 

 

 

 

 

 

 

 

1) Raise vehicle on hoist or jack and use suitable axle stands to support vehicle 

2) Remove 4 bolts from sump guard 

3) Remove 2 bolts from front diff mounts 

4) Using 2 x large black spacers, place between chassis and front diff mounts 

5) Secure front diff mount using 2 x M12 bolts, 2 x M12 nuts and 4 x M12 washers provided, tighten up          

to factory specification (117 Nm)  

6) Using 4 x small spacers, fit sump guard to vehicle placing spacers between sump guard and chassis. 

Secure with 4 x M8 bolts and 4 x M8 split washers provided. Do not use original bolts. Mounting holes 

in sump guard may need to be elongated to allow sump guard to fit correctly 

** SuperPro recommends all work is carried out by qualified mechanic** 

 

K
i
t
 
c
o
n
t
e
n
t
s 

 
o  2

 
x
 
M
1
2
 
x
 
1
.
7
5
 
x
 
1
6
     
0
                                                                            

o  2
 
x
 
4
9
m
m
 
x
 
2
5
m


